FEIR FREBRENREK

(1) #ExR T2 7€58 188%E
F¥A%E (H) Fi B (M)
25FEF | 26FEE|27FE| 255K |26FE | 275E
INERE (1K) 4,342 | 4,442 | 4, 461 250 251 257
BTEEL (%) 103.0 102.3 100. 4 100. 8 100. 2 102. 4
"_iz INERE () 4,313 | 4,467 | 4,485 252 251 258
N BIEEL (%) 101.8 102.1 100. 4 100. 3 99.5 103.0
h[hER (&) 4,384 | 4,479 | 4,500 252 257 261
E BTEEL (%) 101.1 102.2 100. 5 99.0 101.6 101.5
R 5,053 | 5,156 | 5,202 293 292 303
BTEEL (%) 101.0 102.0 100. 9 97.2 99.9 103.6
AR 4,626 | 4,729 | 4,775 283 2817 295
N BTEEL (%) 99.6 102.2 101.0 100. 2 101.7 102.7
rjz INFEH 5,146 | 5,322 | 5,254 300 308 307
Eﬁ BTEEL (%) 103. 2 103. 4 98.7 103. 2 102.9 99.8
?é i d 6,016 | 6,154 | 6,104 350 356 357
ﬁ BTEEL (%) 102.6 102.3 99.2 103. 1 101.8 100. 2
8 =EE 6,014 | 6,185 | 5,904 352 358 359
BTEEL (%) 102.6 102.8 95.5 103.7 101.8 100. 2
BEE RIS EER 4,990 | 5,176 | 5, 236 303 318 324
BTEEL (%) 98.9 103.7 101.2 99.9 104.9 101.7
fgiﬁ%tuw$ﬂ$mms$ﬂﬁﬁx11(7ﬁ)+¢ﬁ%EE§E;U§&LTuéO
(2) ZRERE mE-Z==A% T2 7%58188R%E
=) =IEAZE (M) k=A% (H)
INERE (1K) 3, 300 5, 141
INERE () 3, 300 5, 141
INERE (B) 3, 300 5, 141
ke arsy 3, 800 6, 000
BRIZIRFR (%)) 4,500 5,062
BRIZIRFR M) 4,205 6, 100
HRIZIRFR () 4,709 6, 900
BHRIXZEER (&) 4,709 6, 900
REE RIS EER 4,790 9, 950




